
27310G – TRAILER SPARE TIRE CARRIER

Short U-Bolts Long U-Bolts 
For 2” wide x 3” deep, cross bolts For 3” wide x 3” deep, cross bolts 
For 2” wide x 4” deep, parallel bolts For 3” wide x 4” deep, parallel bolts 

MOUNTING INSTRUCTIONS:
1. U-BOLT SELECTION

a. FOR 2” WIDE FRAME OR LESS, USE SHORT U-BOLTS.
b. FOR 3” WIDE FRAME USE LONG U-BOLTS.
c. FOR 3” TALL FRAME OR LESS, CROSS THE U-BOLTS.
d. FOR 4” TALL FRAME INSTALL THE U-BOLTS PARALLEL.

2. CHOOSE A STONG LOCATION ON THE TRAILER WITH GOOD SPARE TIRE CLEARANCE,
INSTALL THE U-BOLTS WASHERS AND NUTS AND FASTEN THE CARRIER IN PLACE.

3. INSERT THE LUG BOLTS THEN PUSH THE “PUSH-NUTS” OVER THE THREADS TO LOCK
THE BOLTS IN PLACE ONTO THE CARRIER.   (USE A 3/4” WRENCH OR 3/4” DEEP SOCKET
TO PUSH DIRECTLY ON THE PUSH-NUTS)

4. MOUNT THE SPARE AND TIGHTEN THE LUG NUTS.

NOTE, THIS SPARE TIRE CARRIER FITS MOST 4 OR 5 LUG, 12”, 13”, 14” OR 15” SPARE TIRE WHEELS 
DESIGNED FOR TRAILER USE.   RARELY, TRAILERS USE WHEELS DESIGNED FOR CARS AND TRUCKS 
THAT HAVE MANY DIFFERENT BOLT PATTERNS AND THESE MAY NOT FIT ON THIS CARRIER.  

PARTS INCLUDED 

1---U-bolt, 7/16” x 4-1/8” x 3-1/4” 15264 2---1/2”-20 x 1-3/4” Carriage bolt 11100 
1---U-bolt, 7/16” x 4-1/8” x 3-1/4”, formed 15265 2---1/2” Push nut  10802 
1---U-bolt, 7/16” x 4-1/8” x 4-1/4” 15256 2---1/2”-20 lug nut  11051 
1---U-bolt, 7/16” x 4-1/8” x 4-1/4”, formed 15263 1---Carrier body  27311G 
4---7/16” Flat washer 10961 
4---7/16” Nylon locknut 10811

Learn more about boat trailer parts we have.

https://www.boatid.com/ce-smith/
https://www.boatid.com/boat-trailer-parts.html

